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A= I:P-XZ-(3~L - x)}

6EI
5= Px2~(3a— X)
6EI
_ Paz-(Sx —a)
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Need to get 6 equations for A where x =L 4 to L g.
This will give me A.pq to A.pg

Need 6 equations for P=R 4, a=L 1, and x=L 4 to
L g - This will give me 6 11 to & g1

Need 5 equations for P =R, a=Ljand x=L to
L g - This will give me 6 5o to & g2

Need 4 equations for P =R 3 a=L3zand x=L 3 to
L g . This will give me 6 33 t0 & g3

Need 3 equations forP =R 4 a=L4and x=L 4 to
L g . This will give me 6 44 t0 & g4

Need 2 equations for P =R a=Lsand x=L 5 to
L g . This will give me & 55 to & g5

Need 1 equationsforP=Rg a=Lgandx=Lg.
This will give me 6 gg .

Need 1 equations for P=R 5, a=L » and x=L 4 .This will
give me & 1o

Need 2 equations for P=R 3, a=L 3 and x=L 4 to L 5 .This
will give me & 13t0 8 23

Need 3 equations for P=R 4, a=L 4 and x=L 4 to L 3 .This
will give me & 14100 34

Need 4 equations for P=R 5, a=L 5 and x=L 4 to L 4 .This
will give me & 15t0 0 45

Need 5 equations for P=R g, a=L g and x=L 4 to L 5 .This
will give me & 15t0 0 56

A 1p* 5.11+0.12+0.13+0.14+0 1510 16=0
A 2p* 82110 2210 2310 2410 2510 26=0
A 3p* 53110 3210 33103410 3510 36=0
A 4p* 5.41+0 42+0 4310 4410 4510 46=0
A 5p* 85110 5210 5310 5410 5510 56=0
A gpt 86110 6210 63106410 6510 66=0

Solve forR1to Rg






